
 

 

  

 

  :1ا������ 

	� ا����� t=0  �
� ��� ��ق ����ى أ��� ������ V=2m/sا

 $%&%�أ2�3 �1
� ا�.�� �� . �*�,� أن ا�.�� -,+ �*(ول �%&$
  . t=2s, t=1s: ا����$ت ا��$�%� 

  
  :2ا������ 

 ���9Sك ���
 �&1 ;�


ABCD  �� ���@
����ى  رأ�1   

9&�ن  ABا�.(ء . 
�α=30°  D زاو�9

 ���Eى ا���Fا�
 BCوا�.(ء . 

 �F%����
 CDوا�.(ء . أ���

�*�,� أن ا�3I&$آ$ت �D� . ��FG ا����Fى اβ=45°  ���E 9&�ن زاو�9
�� آ��� ا�.��.  JKل �3آ� ا�.�� *�S  ه�m=1,5kg  PKQ�و

g=10m/s2   

�; ا�.�� 1 ��,�Fــ �$ ه� ا���ى ا�S  ؟ Tر$�� U� ء)� Vآ ��  
  JKل آV �(ء ؟ 
�V آ%Y%$ ��ا�S  Xــ �$ ه� W,%*� �3آ� ا�.��  2

�; ا�.�� ــ  3 ��,�Fت ا���ى ا�$G.�� V[� ��\وا ��$%,@ ;�
أ ــ 
  . JKل آV �(ء  1cm↔5Nا���� . 
  

  :3ا������ 

 +��W ، اد���Iا V�$a �%b c%d� $%@ذا J�$3 c���ℓ  ة�g	Fإ�; ا�
 i%3 ودا�F� c%d9,�; ا� i%�� �@اPا� V�$ا�� V1�� �@ ، �%��Eا

 ���$j Tر�ka )آ�� �
  .  VG=3m/s@&�ن �1
1  Xا��� V�

�; ا��$�V ا�Pا@� ؟  ��,�Fازن ا���ى ا���@ Vــ ه

  .ا�1	�W m,%*� �3آ� ��آ( ا���kر ا��$�V ا�Pا@� 
�D ا�c%d ا�Pي c��9 ا��$�V ا�Pا@� �$�F	�gة  2��  :ــ �� ���� �*%	� 
هo@ V%�ت �3آ� ��آ( ا���kر ���$�V ا�Pا@� ؟ �$ ه� G�*%,W$ ؟  1ــ2


�V ا�.�اب  .  
�1
� ��آ( ا���kر ���$�V ا�Pا@� ؟�$  2ــ  2 �F%a  
  

  :4ا������ 
آ����9S  $G&�ن ��� U� 2�q آ��9ة 

m1=10g  r�، آ���+  �C],�� إ�; �aص ��.$
m2=500g  +
أو�� ��آ( .  R=50cmو-*$

 �
�F.Fر ا��ka} ص�a آ��9ة ــ {.  
  
  
  

  :5ا������ 
���aD1  Tص aو �%oq +&F1 r�$.��d1  T)و��آO1  . 2�j +� ���9

 T��a ي�yداd2   T)و��آO2  V&z�9\} ا� $Fآ  
  . أو�� ��آ( �kaر ا���ص 

 ��*�d1=20cm  وd2=4cm  وO1O2=5cm  
  
  
  
 

  :6ا������ 
 $Gآ��� �%�� �*�a VF�@ �Ya��� �	3$-m=20kg  .  

�*� ا�.�%� 1a ;�
 ��,�Fــ أ��د ا���ى ا� .  
���9� �,�أ ا���kر �$�	�,� ��D��F اEر\� ؟ @� �$�	�,�  2 Vــ ه

 U%��$ا�� U%*��Fا� U
�z�$� c,@�� D��F$3	� ؟ �$ذا U&F9 أن ���ل 
  ؟ 
�*� ا�.�%� إ�; ا��راء ، ��� ا��$ه�ة  3a ��)	�� �	3$zا� ���ــ @	

  ) ا�3I&$آ$ت ���FG . ( ا�zF$ه�ة 
  :7ا������ 

 ;�

�; ��*� 3$��� ا�	�V ا��Fر�1 ا��� @�%�  P%F�@ r�.9
 ���$j �
���  �F%���� �9�WV=40km/h  .  

1  ;�
 �j�@ رض ، ا���ى ا���E$� c,@�� ��*F� ، �,�	�$� ــ أذآ�
 Xا��� V�
  . ا���P%F و�$ ا�*%� �aJ	G$ ؟ 

�1
� ا��$���  2 ��  .  V’=60km/hــ �rY ا���ال إذا آ$
  .آ,} ��ا�V ا��$��� 9	��D ا���P%F إ�; ا�E$م ــ أj	$ء  3
��Y+  1ــ 3 ��*F�� P%Fا��� ;�
�3د �� هTP ا��$�� ، ا���ى ا��j�Fة 
  �F$ذا ا���D ا���P%F إ�; ا�E$م ؟ . 
  

  
  ���أ ا����ر
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